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Time : 3Hrs. Sem - III/Chem. Engg.  

Industrial Chemistry

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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11.

6

Write short notes on the following:

(i) Phase rule

(ii) Peroxide effect

(i) Theory of indicators

(ii) Bayer's strain theory
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

Valeric acid is

(a) HCOOH

(b) CHCOOH 37

(c) CHCOOH 49

(d) CHCOOH 511

Hydridisation on starred carbon is -

(a) Sp

(b) Sp

(c) Sp
  

(d) Sp d

CH  = C = CH 

*

3

3

2

22
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How will you distinguish between primary,

secondary and tertiary alcohol by Lucus test and 

Victor Mayer test.

(i) Benzyle chloride ® Benzyl alcohol

(ii) Methyl magnesium bromide®  2-methylpropan 

       -2-01

(iii)

(iv)

(iii)

(ii)

molecule are

(a) 1.22 A

(b) 1.34 A

(c) 1.39 A

(d) 1.54 A

isotherm is

(a) 

(b) 

(c) 

(d) None of these
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CH  = C = CH2 2
*

x = mkp1/n

x = mkpn

x = mkpn-1
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0

0

0

0

0

0

0

0
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Write following reaction of Alcohol

(i) PCl5
(ii) SOCl2
(iii) Carboxylic acid

(ii) SOCl2

(iii) 

magnesium halide ? Describe halogenation reaction 

of methane.

9.
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(iv)

(v)

(v)

(vi)

maximum dipole moment ?
(a) Ortho
(b) Meta
(c) Paru
(d) None of these

azeotrope.
(a) CHOH + HO solution 252
(b) CH + CHCH solution 66653
(c) HNO + HO solution 32
(d) None of these

x = mkp

x = mkp

x = mkp
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(vii)

(vii)

(viii)

(vi)

Which of the following compounds gives 
silver mirror with ammonical silver nitrate?
(a) Benzene
(b) Benzal alcohol
(c) Benzal chloride
(d) Benzaldehyde

(a) Copper
(b) Platinum
(c) Aluminium chloride
(d) Sodium

1614303
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                 GROUP  - C

Answer all Five Questions.
6 x 5 = 30

How will you convert ethanoic acid into benzene ?

phase rule.

 one component system

What happens when chloroform reacts with.

(i) Aniline

(ii) Silver powder

7.
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(viii)

(ix)

(ix)

(a) An ideal solution

(b) Non ideal solution

(c) Azeotrope

(d) None of these

(a) Ethylene Oxide

(b) Dimethyl ether

(c) Methoxy methane

(d) None of these

(x)

15

P.T.O

1614303

(ii) CHCOCl 3

Explain with an example. Kolbe's reaction

benzaldehyde ?

OR

6.

4
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CH  - O - CH     3 3

Which of the following is used for testing 

the presence of sugar ?

(a) Glycerol

(b) Conc. HNO3
(c) Fehling's solution

(d) Benedict's solution

(a) NaCl

(b) NaCl, NaOCl

(c) NaClO3

(d) None of these

 

(xi)

(xi)

(xii)

(x)
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5.

Aliphatic compound ?

and degree of freedom (F) for the system. 

Na SO  . 10H O (s)        10H O(g) + Na SO (s)2 4 2 2 2 4

Na SO  . 10H O (s)        10H O(g) + Na SO (s)2 4 2 2 2 4

How phenol obtained from coal-tar ?

(i) H SO2 4

(ii) CH COCl3

4.

4

4
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NaoH C 

Benzene is obtained by polymerization of

(a) Acetylene

(b) Ethylene

(c) Ethane

(d) None of these

(a) Acetic acid

(b) Oxalic acid

(c) Acetone

(d) None of these

(xiv)

(xii)

(xiii)

(xiii)

131614303
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CH - CH - O - CHCH 323

CH3

½

CH3

OH

HC3

(i)

(ii)

OR

What do you mean by sublimation process and 

Distillation process ?

Explain : Aldol condensation 

physisorption.

Chemisorption Physisorption

OR

3.

4
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When phenol reacts with ammonia in presence 
0of ZnCl  at 300  C it gives:3

(a) Primary amine  

(b) Alcohols

(c) Ether

(d) None of these

(a) Like egg

(b) Like fruit

(c) Like fish

(d) None of these

(xiv)

(xv)

(xv)

1614303
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(xx)

Answer all Five Questions.
4 x 5 = 20

Give IUPAC names of the following compounds :2.

4

CH  - CH - O - CH CH3 2 3

CH3

½

CH3

OH

H C3

(i)

(ii)
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test defined as a phenomenon of?

(a) Adsorption

(b) Chemisorption

(c) Absorption

(d) None of these

(a) Rasching process

(b) Wurtz fitting reaction

(c) Grignard reaction

(d) None of these

(xvii)

(xvii)

(xviii)

(xvi)

11

double bond are known as

(a) Alkanes

(b) Alkenes

(c) Alkynes

(d) None of these

Ethylene reacts with Ozone to give

(a) Ozonide

(b) Ethene

(c) Acetic acid

(d) Ethyl alcohol

1614303

(xviii)

(xix)

(xx)

(xix)
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